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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. A market survey was conducted in four cities to find 

out the preference for brand A soap. The responses are 

shown below : 

 Delhi Kolkata Chennai Mumbai 

Yes 45 55 60 50 

No 35 45 35 45 

No Opinion 5 5 5 5 

(a) What is the probability that a consumer selected 

at random preferred brand A ? 

(b) What is the probability that a consumer preferred 

brand A and was from Chennai ? 

(c) What is the probability that a consumer preferred 

brand A, given that he was from Kolkata ? 

(d) Given that a consumer preferred brand A, what is 

the probability that he was from Mumbai ? 

czkaM A lkcqu dh izkFkfedrk tkuus ds fy, pkj ‘kgjksa esa 

,d cktkj losZ{k.k fd;k x;kA izfrfØ;k,¡ uhps fn[kkbZ x;h 

gSaa % 

 fnYyh dksydkrk pSUubZ eqEcbZ 

gk¡ 45 55 60 50 

ugha 35 45 35 45 

dksbZ jk; ugha 5 5 5 5 
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¼d½ ;kn`fPNd :i ls p;fur miHkksDrk ds }kjk czkaM A dks 

ilUn djus dh izkf;drk D;k gS \ 

¼[k½ ,d miHkksDrk ds ilafnr czkaM A vkSj mldh psUubZ ds 

gksus dh izkf;drk D;k gS \  

¼x½ ,d miHkksDrk dk ilanhnk czkaM A gksus dh izkf;drk 

D;k gksxh vxj ;g fn;k gqvk gS fd og dksydkrk dk 

gS \ 

¼?k½ fn;k x;k gS fd ,d miHkksDrk dk ilanhnk czkaM A gS] 

bl ckr dh izkf;drk D;k gS fd og eqEcbZ ls Fkk \ 

2. From the following data, find out whether there is any 

relationship between sex and preference of colour : 

Colour Males Females Total 

Red 10 40 50 

White 70 30 100 

Green 30 20 50 

Total 110 90 200 

fuEufyf[kr vk¡dM+ksa ls irk dhft, fd D;k fyax ,oa jax dh 

ilan ds chp dksbZ lEcU/k gS % 

jax iq#”k  efgyk,¡ ;ksx 

yky 10 40 50 

lQsn 70 30 100 

gjk 30 20 50 

;ksx 110 90 200 
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3. What do you understand by “initial feasible solution” ? 

Explain the concept of north-west corner rule/the least 

cost method/VAM method. 

ßizkjafHkd lk/; lek/kkuÞ ls vki D;k le>rs gSa \ 

mŸkj&if’pe dksus okys fu;e@U;wure ykxr fof/k@oSe 

fof/k dh vo/kkj.kk dk foLrkj dhft,A 

4. A branch of Punjab National Bank has only one typist. 

Since the typing work varries in length, the mean 

service rate 8 letters/hour. The letters arrive at a rate of 

5/hour during the entire 8 hours workday. If the 

typewriter is valued ` 1.50/hour, determine : 

(a) The equipment utilization 

(b) The percent time that an arriving letter has to 

wait. 

(c) The average system time. 

(d) The average cost due to waiting on the part of the 

typewriter (idle time cost). 

iatkc us’kuy cSad dh ‘kk[kk esa dsoy ,d Vadd gSA D;ksafd 

Vad.k dk;Z yEckbZ esa ifjofrZr gksrk gS] vkSlr lsok nj 8 

i=@?kaVk gSA iwjs 8 ?kaVksa ds dk;Z fnol ds nkSjku i= 

5@?kaVs dh nj ls vkrs gSaA vxj Vad.k e’khu dk ewY; 

1-50@?kaVk gks] fu/kkZfjr dhft, % 

¼d½ midj.k mi;ksx 

¼[k½ vkus okys i= dks izrh{kk djus dk izfr’kr le;A 

¼x½ vkSlr iz.kkyh le; 

¼?k½ Vad.k e’khu dh vksj ls izrh{kk djus ds dkj.k vkSlr 

ykxr ¼fu#i;ksxh le; ykxr½A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain what you understand by the term probability. 

Discuss its importance in business decision-making. 

vki ‘kCn izkf;drk ls vki D;k le>rs gSa \ O;kikj fu.kZ; 

ysus esa blds egRo ij ppkZ dhft,A 

2. What assumptions must be met for a binomial 

distribution to be applied to a real life situation ? 

,d okLrfod thou fLFkfr esa f}in forj.k dks iz;ksx djus 

ds fy, dkSu&lh ekU;rkvksa dks iwjk fd;k tkuk pkfg, \ 

3. In the application of the chi-square procedure, describe 

how the expected frequencies are determined. 

dkbZ&oxZ izfØ;k ds vuqiz;ksx esa] visf{kr vkòfŸk;ksa dk 

fu/kkZj.k dSls fd;k tkrk gS \ o.kZu dhft,A 

4. Distinguish between correlation and regression 

analysis. 

lg&lEcU/k ,oa izrhxeu fo’ys”k.k ds e/; foHksn dhft,A 
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5. Give the role of queuing theory in decision-making and 

discuss its application. 

fu.kZ; ysus esa drkjc) fl)kUr dh Hkwfedk vkSj mlds 

vuqiz;ksx dh ppkZ dhft,A 

6. What are decision trees ? How and in what type of 

situations are they employed for decision-making ? 

fu.kZ; r# D;k gksrs gSa \ fu.kZ; ysus ds fy, os dSls vkSj 

fdl rjg dh fLFkfr;ksa esa mi;ksx gksrs gSa \ 

7. What do you understand by null hypothesis and level 

of significance ? Explain with the help of one example. 

‘kwU; ifjdYiuk ,oa egRo ds Lrj ls vki D;k le>rs gSa \ 

,d mnkgj.k dh lgk;rk ds lkFk le>kb;sA 

8. “Transportation model is a special case of linear 

programming.” Discuss. 

ßifjogu uewuk jSf[kd izksxzkfeax dk ,d fo’ks”k izdkj gSAÞ 

le>kb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. A linear programming problem is infeasible if there are 

any slack variables in the solution. (True/False) 
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,d jSf[kd izksxzkfeax leL;k vO;kogkfjd gksrh gS] ;fn 

lek/kku esa dksbZ eanxkeh pj gksA  ¼lR;@vlR;½ 

2. VAM is a procedure to find the best possible solution 

to a transportation problem. (True/False) 

ifjogu leL;k ds loksZŸke laHko lek/kku Kkr djus dh 

VAM ,d izfØ;k gSA   ¼lR;@vlR;½ 

3. In an assignment model demand must be equal to 

supply.   (True/False) 

fu;ru izfr:i esa ek¡x vkiwfrZ ds leku gksuh pkfg,A  

    ¼lR;@vlR;½ 

4. A decision tree is used to solve the problems involving 

sequential decisions. (True/False) 

,d fu.kZ; r#] vuqØfed fu.kZ;ksa ls lacaf/kr leL;kvksa dks 

gy djus ds fy, mi;ksx fd;k tkrk gSA ¼lR;@vlR;½ 

5. A queuing system aims to provide service at a faster 

rate.     (True/False) 

drkj&iz.kkyh dk mn~ns’; rst xfr ls lsok iznku djuk 

gksrk gSA   ¼lR;@vlR;½ 

6. The mean of the binomial distribution is greater than 

its variance.  (True/False) 

f}in forj.k dk ek/; blds fopj.k ls vf/kd gksrk gSA  

    ¼lR;@vlR;½ 

7. Correlation coefficient is the geometric mean of 

regression coefficients. (True/False) 

lg&lEcU/k xq.kkad izfrxeu xq.kkadksa dk xq.kksŸkj ek/; gksrk 

gSA    ¼lR;@vlR;½ 
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8. A contingency table shows the relationship between 

two variables. (True/False) 

,d vkdfLedrk rkfydk nks pjksa ds chp lEcU/k n’kkZrh gSA  

    ¼lR;@vlR;½ 

9. A tentative assumption about a population parameter is 

called the null hypothesis. (True/False) 

lexz izkpy ds ckjs esa ,d vLFkk;h /kkj.kk dks ‘kwU; 

ifjdYiuk dgk tkrk gSA   ¼lR;@vlR;½ 

10. The t-test statistic is used when 30n  and the 

population standard deviation is known. (True/False) 

t&ijh{k.k vk¡dM+k iz;ksx gksrk gS tc 30n  vkSj lexz 

ekud fopyu Kkr gksA   ¼lR;@vlR;½ 
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